Contract 26-02 - Scott Aver	nue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City			•					
Solicitor: Oshkosh WI, Cit								
, , ,	, .							
Bid Opening: 11/17/2025 1	1:00 AM CST			1				
514 opening, 11/1//2020 1	1100 11111 CO 1							
					Carl Bowers & Son	ns Const. Co. Inc	Advance Con	struction Inc
				+	N1844 Mal		Tuvunce Con	struction inc.
				+ +	Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid	item code	item Description	COLIVI	Qualitity	OllitTite	\$4,380,549.55	Office	\$4,394,630.31
Section 1: Dase blu		Clearing; complete as				Ψ 4 ,300,347,33		\$4,394,030.31
	1011		Inch Diameter	60.00	\$45.00	¢2.700.00	\$45.00	¢2.700.00
	1011	specified Grubbing; complete as	inch Diameter	60.00	\$45.00	\$2,700.00	\$45.00	\$2,700.00
	1021	specified	In de Diameter	60.00	¢45.00	#2 700 00	¢45.00	¢2.700.00
	1021	Mobilization; complete as	Inch Diameter	60.00	\$45.00	\$2,700.00	\$45.00	\$2,700.00
	1050	-	I C	1.00	#110,000,00	¢110,000,00	#121 FE0 00	#121 FF0 00
	1050	specified Business access plan and	Lump Sum	1.00	\$110,000.00	\$110,000.00	\$131,550.00	\$131,550.00
		-						
	1051	signage; complete as	E. J.	1.00	¢1 500 00	¢1 F00 00	¢= 000 00	¢= 000 00
	1051	specified Removing pavement;	Each	1.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00
	1100	· ·	C	11 200 00	\$5.00	\$56,500.00	\$5.00	¢E (E00 00
	1100	complete as specified Removing curb and	Square Yards	11,300.00	\$5.00	\$36,300.00	\$5.00	\$56,500.00
		_						
	1110	gutter; complete as	T. F.	270.00	#2.00	#1 110 00	φ <u>τ</u> 00	#1 0F0 00
	1110	specified Removing concrete and	Linear Feet	370.00	\$3.00	\$1,110.00	\$5.00	\$1,850.00
		_						
		asphalt sidewalk and						
	1120	driveway; complete as		25 500 00	40.00	***	40.55	400 (07.00
	1120	specified	Square Feet	37,500.00	\$0.80	\$30,000.00	\$0.55	\$20,625.00
	1200	Unclassified excavation;	61. 7. 1	2 0 6 0 0 0	420.00		440 =0	455.050.00
	1200	complete as specified	Cubic Yards	3,860.00	\$20.00	\$77,200.00	\$19.50	\$75,270.00
		Excavation special						
	1000	(paving); complete as				4= =0	#44.00	4= 000 00
	1220	specified	Tons	570.00	\$0.01	\$5.70	\$14.00	\$7,980.00
		7" concrete pavement;						
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	9,910.00	\$59.09	\$585,581.90	\$58.60	\$580,726.00
		7" concrete pavement						
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	900.00	\$63.09	\$56,781.00	\$62.60	\$56,340.00
		8" concrete pavement						
		HES; with 6" CABC and						
		grading; complete as						
	1313	specified	Square Yards	160.00	\$84.63	\$13,540.80	\$85.00	\$13,600.00
		Concrete pavement gaps;						
	1334	complete as specified	Each	3.00	\$0.01	\$0.03	\$0.01	\$0.03

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City			· · · · · · · · · · · · · · · · · · ·					
Solicitor: Oshkosh WI, Cit								
Bid Opening: 11/17/2025 1	1:00 AM CST							
1 0								
					Carl Bowers & Son	ns Const. Co., Inc.	Advance Con	struction Inc.
					N1844 Malo	·		
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	570.00	\$14.00	\$7,980.00	\$16.25	\$9,262.50
		Pavement ties; complete				·		·
	1350	as specified	Each	99.00	\$10.00	\$990.00	\$10.00	\$990.00
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	158.00	\$14.00	\$2,212.00	\$14.00	\$2,212.00
		Drilled dowel bars; 1 1/4";						
	1354	complete as specified	Each	48.00	\$16.50	\$792.00	\$16.50	\$792.00
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	77.00	\$425.00	\$32,725.00	\$425.00	\$32,725.00
		Turf restoration;						
	1370	complete as specified	Square Yards	4,800.00	\$10.00	\$48,000.00	\$6.75	\$32,400.00
		n						
		Restore gravel driveway/						
	1050	apron; complete as	6 2/ 1	140.00	#40.00	#F <00 00	# C 50	#010.00
	1372	specified Cold weather covering	Square Yards	140.00	\$40.00	\$5,600.00	\$6.50	\$910.00
		(concrete pavement) -						
	1380	single visquine; complete as specified	Carrana Vando	1.075.00	\$0.01	\$10.75	\$0.01	\$10.75
	1360	Up-charge for late season	Square Yards	1,075.00	\$0.01	\$10.75	\$0.01	\$10.75
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	210.00	\$0.01	\$2.10	\$0.01	\$2.10
	1390	12" radius curb with 6"	Cubic Tarus	210.00	φ0.01	φ2.10	φ0.01	Ψ2.10
		CABC and grading;						
	1410	complete as specified	Linear Feet	405.00	\$14.00	\$5,670.00	\$14.20	\$5,751.00
	1110	30" curb and gutter; 7";	Emedi Teet	100.00	Ψ11.00	φο/ο/ ο.οο	ψ11 <u>12</u> 0	40), 01.00
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	290.00	\$66.00	\$19,140.00	\$66.50	\$19,285.00
		Sidewalk curb; complete						
	1460	as specified	Linear Feet	210.00	\$75.00	\$15,750.00	\$75.00	\$15,750.00
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	21,050.00	\$7.40	\$155,770.00	\$6.95	\$146,297.50

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#99	926737)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 11/17/2025 11	1:00 AM CST							
					Carl Bowers & So	ns Const. Co., Inc.	Advance Con	struction Inc.
					N1844 Mal	oney Road		
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	13,875.00	\$7.75	\$107,531.25	\$7.30	\$101,287.50
		6" concrete sidewalk/	•					
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	2,475.00	\$8.00	\$19,800.00	\$7.55	\$18,686.25
		6" concrete step; complete						
	1530	as specified	Square Feet	960.00	\$75.00	\$72,000.00	\$75.00	\$72,000.00
		Curb ramp detectable						
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	230.00	\$40.00	\$9,200.00	\$40.00	\$9,200.00
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	6,660.00	\$2.00	\$13,320.00	\$2.00	\$13,320.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	290.00	\$8.00	\$2,320.00	\$8.00	\$2,320.00
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	3,755.00	\$0.01	\$37.55	\$0.01	\$37.55
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	3,755.00	\$0.01	\$37.55	\$0.01	\$37.55
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	60.00	\$0.01	\$0.60	\$0.01	\$0.60
		Furnish and install tree;					±,=,	
	1600	complete as specified	Each	3.00	\$600.00	\$1,800.00	\$650.00	\$1,950.00
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	23.00	\$150.00	\$3,450.00	\$125.00	\$2,875.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of		•					
Solicitor: Oshkosh WI, City								
Bid Opening: 11/17/2025 11	:00 AM CST							
1 0								
					Carl Bowers & Sor	ns Const. Co., Inc.	Advance Con	struction Inc.
					N1844 Malo			
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Replace existing property		~ ,				
		monuments; complete as						
	1652	specified	Each	23.00	\$50.00	\$1,150.00	\$25.00	\$575.00
		Sawing existing			·	. ,	·	·
		pavement; complete as						
	1700	specified	Linear Feet	1,050.00	\$3.00	\$3,150.00	\$1.95	\$2,047.50
		Sawing concrete						
		pavement full depth;						
	1710	complete as specified	Linear Feet	640.00	\$4.00	\$2,560.00	\$2.35	\$1,504.00
		Tack coat; complete as						
	1900	specified	Gallons	9.00	\$8.90	\$80.10	\$8.80	\$79.20
		4" asphaltic transition LT						
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	495.00	\$52.23	\$25,853.85	\$51.35	\$25,418.25
		4" asphaltic surface LT						
		with 6" CABC and						
	1016	grading; complete as	C Y 1	125.00	#(2.00	#F 0.0 F0	#E0.20	#E 20E E0
	1916	specified 2" asphaltic surface LT	Square Yards	125.00	\$62.90	\$7,862.50	\$58.30	\$7,287.50
		with 6" CABC and						
	1017	grading; complete as	Carrana Vanda	E0.00	\$67.73	#2 296 E0	¢62.15	¢2.157.50
	1917	specified Asphaltic cold weather	Square Yards	50.00	\$67.73	\$3,386.50	\$63.15	\$3,157.50
		paving up-charge;						
	1918	complete as specified	Square Yards	66.00	\$0.01	\$0.66	\$0.01	\$0.66
	1710	Furnish and install 12"	Square rarus	00.00	φ0.01	ψ0.00	φ0.01	φ0.00
		storm sewer; complete as						
	2003	specified	Linear Feet	625.00	\$94.00	\$58,750.00	\$73.25	\$45,781.25
	2000	Furnish and install 15"	Zinear rect	020.00	ψ>1.00	φοομ σοισο	\$7.0.20	ψ10// 011 <u>2</u> 0
		storm sewer; complete as						
	2006	specified	Linear Feet	250.00	\$99.00	\$24,750.00	\$72.50	\$18,125.00
		Furnish and install 18"			******	, , , , , , , , , , , , , , , , , , , ,	,	, , , , , , , , , , , , , , , , , , , ,
		storm sewer; complete as						
	2009	specified	Linear Feet	15.00	\$105.00	\$1,575.00	\$88.50	\$1,327.50
		Furnish and install 21"				.,		
		storm sewer; complete as						
	2012	specified	Linear Feet	310.00	\$132.00	\$40,920.00	\$101.00	\$31,310.00
		Furnish and install 24"				·		·
		storm sewer; complete as						
	2015	specified	Linear Feet	1,200.00	\$125.00	\$150,000.00	\$100.00	\$120,000.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 11/17/2025 11	1:00 AM CST							
1 0								
					Carl Bowers & Son	ns Const. Co., Inc.	Advance Cons	truction Inc.
					N1844 Male	·		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem coue	Furnish and install 27"	001111	Quantity	OIII TIICC	Extension	Chit Trice	Extension
		storm sewer; complete as						
	2018	specified	Linear Feet	50.00	\$175.00	\$8,750.00	\$178.00	\$8,900.00
	2010	Furnish and install 14" x	Linear Feet	30.00	\$175.00	\$6,730.00	\$178.00	φο, 200.00
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	25.00	\$180.00	\$4,500.00	\$166.00	\$4,150.00
	2043	Furnish and install 24" x	Linear reet	25.00	\$100.00	\$4,500.00	\$100.00	Φ 4 ,130.00
		38" HERCP Class III						
		storm sewer; complete as						
	2049	_	Limona Foot	200.00	\$205.00	£41,000,00	¢170.00	¢2E 900 00
	2049	specified Furnish and install 29" x	Linear Feet	200.00	\$205.00	\$41,000.00	\$179.00	\$35,800.00
		45" HERCP Class III						
	2051	storm sewer; complete as	T. F.	220.00	# 25 0.00	#0 2 500 00	#220 50	ATE 405.00
	2051	specified Furnish and install 38" x	Linear Feet	330.00	\$250.00	\$82,500.00	\$228.50	\$75,405.00
		60" HERCP Class III						
	2055	storm sewer; complete as	T. F.	250.00	#22F 00	#112 FE0 00	#222.00	4112 500 00
	2055	specified Furnish and install	Linear Feet	350.00	\$325.00	\$113,750.00	\$322.00	\$112,700.00
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	53.00	\$600.00	\$31,800.00	\$972.00	\$51,516.00
		Furnish and install						
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	21.25	\$825.00	\$17,531.25	\$1,414.00	\$30,047.50
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	11.75	\$1,100.00	\$12,925.00	\$1,938.00	\$22,771.50
		Furnish and install						
		standard storm sewer						
		manhole (7' x 7' box);						
	2210	complete as specified	Vertical Feet	9.00	\$1,500.00	\$13,500.00	\$2,540.00	\$22,860.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	5.10	\$575.00	\$2,932.50	\$950.00	\$4,845.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#99	926737)					
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City	y of							
· · ·								
Bid Opening: 11/17/2025 11	1:00 AM CST							
1 0								
					Carl Bowers & Son	s Const. Co., Inc.	Advance Cons	truction Inc.
				+	N1844 Malo			
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install Type 1		200				
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$3,500.00	\$3,500.00	\$3,934.00	\$3,934.00
		Furnish and install Type 3			40,00000	40,00000	40).0000	447.0 -1100
		inlet (with 18" sump);						
	2237	complete as specified	Each	35.00	\$3,500.00	\$122,500.00	\$3,316.00	\$116,060.00
		Furnish and install 6"			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	1.7.	, ,,,,,,,,,
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	2,550.00	\$75.00	\$191,250.00	\$58.00	\$147,900.00
		Furnish and install 8"				·		·
		storm sewer lateral;						
	2402	complete as specified	Linear Feet	30.00	\$90.00	\$2,700.00	\$71.00	\$2,130.00
		·						
		Furnish and install storm						
		sewer marker balls;						
	2404	complete as specified	Each	155.00	\$20.00	\$3,100.00	\$35.00	\$5,425.00
		Furnish and install storm						
		sewer clay dams;						
	2406	complete as specified	Each	80.00	\$100.00	\$8,000.00	\$200.00	\$16,000.00
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	75.00	\$1,200.00	\$90,000.00	\$1,194.00	\$89,550.00
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	10.00	\$100.00	\$1,000.00	\$50.00	\$500.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	80.00	\$100.00	\$8,000.00	\$75.00	\$6,000.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	80.00	\$10.00	\$800.00	\$15.00	\$1,200.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$0.01	\$0.04	\$1,000.00	\$4,000.00

Contract 26-02 - Scott Avenu	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
, , , ,								
Bid Opening: 11/17/2025 11	:00 AM CST							
					Carl Bowers & Son	ns Const. Co., Inc.	Advance Con	struction Inc.
					N1844 Mal	·		
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem coue	richi Description	COLVI	Quantity	CintTitee	LAICHSION	Cilit i iicc	LATERISION
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	80.00	\$10.00	\$800.00	\$11.00	\$880.00
	2510	complete us specifica	Eucit	00.00	ψ10.00	φοσο.σσ	ψ11.00	φοσο.σο
		Furnish; install; maintain;						
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	50.00	\$10.00	\$500.00	\$6.25	\$312.50
	2010	из эресписа	Efficial Feet	50.00	φ10.00	φοσο.σσ	ψ0.25	φ012.00
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
	2021	Abandon 8" - 12" storm	Eucit	2.00	φ0.01	ψ0.02	ψ0.01	ψ0.02
		sewer; complete as						
	2800	specified	Linear Feet	675.00	\$15.00	\$10,125.00	\$10.00	\$6,750.00
	2000	Abandon 15" and larger	Emical Teet	0,0.00	\$10.00	\$10,120.00	\$10.00	\$0,700.00
		storm sewer; complete as						
	2802	specified	Linear Feet	725.00	\$20.00	\$14,500.00	\$15.00	\$10,875.00
		Remove 30" and smaller		1 2000	4-0.00	4/	42000	420/010100
		storm sewer; complete as						
	2804	specified	Linear Feet	850.00	\$25.00	\$21,250.00	\$40.00	\$34,000.00
		Abandon storm sewer			,	, , , , , , , , , , , , , , , , , , , ,	,	***************************************
		manholes and inlets;						
	2810	complete as specified	Each	12.00	\$400.00	\$4,800.00	\$500.00	\$6,000.00
		Remove storm sewer			,	, ,	4	, ,,,,,,,,,,
		manholes and inlets;						
	2812	complete as specified	Each	20.00	\$500.00	\$10,000.00	\$500.00	\$10,000.00
		Connect to existing storm			·	. ,	·	· ,
		sewer main; complete as						
	2850	specified	Each	12.00	\$1,200.00	\$14,400.00	\$702.00	\$8,424.00
		Connect to existing storm			. ,	. ,	·	
		sewer lateral; complete as						
	2852	specified	Each	5.00	\$200.00	\$1,000.00	\$100.00	\$500.00
		Connect to existing storm	-		,	,,	,	,
		sewer manhole; complete						
	2856	as specified	Each	2.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
		Connect to existing storm			420000	4-/	423300	4-,0100
		sewer inlet; complete as						
	2858	specified	Each	1.00	\$500.00	\$500.00	\$500.00	\$500.00

Contract 26-02 - Scott Aven	nue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
Bid Opening: 11/17/2025 11	1:00 AM CST							
					Carl Bowers & Son	s Const. Co., Inc.	Advance Const	ruction Inc.
					N1844 Malo	oney Road		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$600.00	\$3,000.00	\$750.00	\$3,750.00
		Excavation special			·			
		(storm); complete as						
	2950	specified	Tons	150.00	\$0.01	\$1.50	\$14.00	\$2,100.00
		Furnish and install 8"			·	·	·	
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	2,525.00	\$125.00	\$315,625.00	\$155.00	\$391,375.00
		Furnish and install 10"				-		
		sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	5.00	\$160.00	\$800.00	\$198.00	\$990.00
		Furnish and install 12"						
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	20.00	\$160.00	\$3,200.00	\$172.00	\$3,440.00
		Furnish and install 24"						
		sanitary sewer (relay);						
	3012	complete as specified	Linear Feet	5.00	\$250.00	\$1,250.00	\$186.00	\$930.00
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	10.00	\$800.00	\$8,000.00	\$793.00	\$7,930.00
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	148.00	\$575.00	\$85,100.00	\$553.00	\$81,844.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	15.00	\$550.00	\$8,250.00	\$575.00	\$8,625.00
		Furnish and install						
		sanitary sewer internal						
		sealing system flex seal						
		utility sealant kit;						
	3118	complete as specified	Each	2.00	\$550.00	\$1,100.00	\$425.00	\$850.00
		Furnish and install						
		sanitary sewer internal						
		sealing system flex seal						
		utility sealant kit						
		extension; complete as						
	3119	specified	Each	2.00	\$550.00	\$1,100.00	\$270.00	\$540.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#99	926737)					
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
Bid Opening: 11/17/2025 11	:00 AM CST							
					Carl Bowers & Son	ns Const. Co. Inc.	Advance Cons	truction Inc
				+	N1844 Male	·	Travance cons	diaction inc.
					Kaukauna,			
Section Title	It C . 1 .	Ham Danieller	UofM	0	Unit Price	Extension	Unit Price	Potencia.
Section Title	Item Code	Item Description Furnish and install 8" x 4"	COIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		sanitary sewer factory						
	2200	wyes or tees; complete as		2.00	4250.00	4=00.00	#402.00	4004.00
	3200	specified Furnish and install 8" x 6"	Each	2.00	\$250.00	\$500.00	\$103.00	\$206.00
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	80.00	\$300.00	\$24,000.00	\$129.00	\$10,320.00
		Furnish and install 4"						
		sanitary sewer laterals						
		(new); complete as						
	3230	specified	Linear Feet	80.00	\$110.00	\$8,800.00	\$127.00	\$10,160.00
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	2,800.00	\$110.00	\$308,000.00	\$127.00	\$355,600.00
		Furnish and install 4"/6"						
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	100.00	\$115.00	\$11,500.00	\$127.00	\$12,700.00
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	160.00	\$25.00	\$4,000.00	\$35.00	\$5,600.00
		Furnish and install clay						
		dams; complete as						
	3238	specified	Each	80.00	\$100.00	\$8,000.00	\$250.00	\$20,000.00
		Furnish and install						
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	4.00	\$1,500.00	\$6,000.00	\$533.00	\$2,132.00
		Furnish and install						
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$1,800.00	\$1,800.00	\$1,147.00	\$1,147.00
								·
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	2.00	\$2,300.00	\$4,600.00	\$1,036.00	\$2,072.00

Contract 26-02 - Scott Avenu	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 11/17/2025 11	:00 AM CST							
• •								
					Carl Bowers & Sor	ns Const. Co., Inc.	Advance Cons	truction Inc.
					N1844 Malo	oney Road		
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		connection to existing 24"						
		sanitary sewer mains;						
	3312	complete as specified	Each	1.00	\$2,800.00	\$2,800.00	\$2,680.00	\$2,680.00
	3312	Furnish and install	EdCII	1.00	\$2,000.00	\$2,000.00	\$2,080.00	\$2,000.00
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	2.00	\$800.00	\$1,600.00	\$500.00	\$1,000.00
	3330	Furnish and install 10"	Laci	2.00	φου.υυ	\$1,000.00	\$500.00	ψ1,000.00
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	50.00	\$220.00	\$11,000.00	\$60.00	\$3,000.00
	3404	Rock excavation;	Linear rect	30.00	Ψ220.00	ψ11,000.00	ψ00.00	ψ3,000.00
	3600	complete as specified	Cubic Yards	30.00	\$0.01	\$0.30	\$0.01	\$0.30
	3000	Closed circuit televising;	Cubic rurus	50.00	ψ0.01	φοιοσ	φο.01	ψοιος
	3700	complete as specified	Linear Feet	2,555.00	\$2.00	\$5,110.00	\$1.50	\$3,832.50
	5,00	Closed circuit televising -	Emedi Teet	2,000.00	φ2.00	ψο/110.00	Ψ1.00	φο/ουΣίου
		using push camera;						
	3710	complete as specified	Each	5.00	\$400.00	\$2,000.00	\$250.00	\$1,250.00
		Abandon sanitary sewer			4-00000	4=/******	420000	4-/
		manholes; complete as						
	3800	specified	Each	4.00	\$800.00	\$3,200.00	\$500.00	\$2,000.00
		Abandon 8" sanitary			400000	40,20000	400000	4-/******
		sewer; complete as						
	3802	specified	Linear Feet	545.00	\$15.00	\$8,175.00	\$8.00	\$4,360.00
		Abandon 12" sanitary			,	, ,	, , , , ,	, , ,
		sewer; complete as						
	3806	specified	Linear Feet	36.00	\$16.00	\$576.00	\$12.00	\$432.00
		Abandon 12" x 19"			,	,	,	
		sanitary sewer; complete						
	3809	as specified	Linear Feet	555.00	\$21.00	\$11,655.00	\$24.00	\$13,320.00
		Remove sanitary sewer				. ,	·	
		manholes; complete as						
	3852	specified	Each	5.00	\$800.00	\$4,000.00	\$500.00	\$2,500.00
		Remove sanitary sewer;				·		,
	3854	complete as specified	Linear Feet	150.00	\$60.00	\$9,000.00	\$100.00	\$15,000.00
		Sanitary sewer utility line				·		,
		opening (ULO); complete						
	3890	as specified	Each	5.00	\$600.00	\$3,000.00	\$750.00	\$3,750.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 11/17/2025 11	1:00 AM CST							
					Carl Bowers & Son	ns Const. Co., Inc.	Advance Cons	struction Inc.
					N1844 Male	oney Road		
					Kaukauna,	WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Excavation special		~ ,				
		(sanitary); complete as						
	3892	specified	Tons	40.00	\$0.01	\$0.40	\$14.00	\$560.00
		Furnish and install 6"			,	***	,	*******
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	225.00	\$130.00	\$29,250.00	\$129.00	\$29,025.00
		Furnish and install 8"			,	, , , , , , , , , , , , , , , , , , , ,	,	1 . /
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	2,615.00	\$135.00	\$353,025.00	\$138.00	\$360,870.00
		Furnish and install 1"		_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	4-00100	4444/42444	, , , , , , , , , , , , , , , , , , ,	4000/01 0100
		water service (relay);						
	4036	complete as specified	Linear Feet	2,560.00	\$102.00	\$261,120.00	\$86.00	\$220,160.00
		1		,	,	, , , , , , , , , , , , , , , , , , , ,	,	, ,,
		Furnish and install 1-1/4"						
		water service (relay);						
	4037	complete as specified	Linear Feet	50.00	\$110.00	\$5,500.00	\$90.00	\$4,500.00
		Furnish and install 1"			,	1-7		, ,
		water service (new);						
	4042	complete as specified	Linear Feet	100.00	\$102.00	\$10,200.00	\$86.00	\$8,600.00
		1 1			·		·	. , , , , , , , , , , , , , , , , , , ,
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	72.00	\$500.00	\$36,000.00	\$641.00	\$46,152.00
		•				·		•
		Furnish and install 1-1/4"						
		corporation and stop box;						
	4050	complete as specified	Each	1.00	\$1,000.00	\$1,000.00	\$1,114.00	\$1,114.00
		Furnish and install water						
		service clay dams;						
	4055	complete as specified	Each	73.00	\$100.00	\$7,300.00	\$250.00	\$18,250.00
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	6.00	\$2,000.00	\$12,000.00	\$2,514.00	\$15,084.00
		Furnish and install						·
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	4.00	\$2,500.00	\$10,000.00	\$2,921.00	\$11,684.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#99	926737)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
. ,								
Bid Opening: 11/17/2025 11	:00 AM CST							
1 0								
					Carl Bowers & Sons	s Const. Co., Inc.	Advance Cons	struction Inc.
				1	N1844 Malor			
				1	Kaukauna, V			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" x 6"		~ ,				
		water main tee; complete						
	4110	as specified	Each	5.00	\$900.00	\$4,500.00	\$763.00	\$3,815.00
		Furnish and install 8" x 8"			·		·	·
		water main tee; complete						
	4111	as specified	Each	3.00	\$1,000.00	\$3,000.00	\$863.00	\$2,589.00
		Furnish and install 8" x 8"			·	·		
		water main cross;						
	4189	complete as specified	Each	1.00	\$1,250.00	\$1,250.00	\$1,118.00	\$1,118.00
		Furnish and install 6" 45						
		degree water main bend;						
	4236	complete as specified	Each	24.00	\$500.00	\$12,000.00	\$343.00	\$8,232.00
		Furnish and install 8" 45						
		degree water main bend;						
	4237	complete as specified	Each	6.00	\$650.00	\$3,900.00	\$475.00	\$2,850.00
		Furnish and install 8" x 6"						
		water main reducer;						
	4264	complete as specified	Each	6.00	\$550.00	\$3,300.00	\$397.00	\$2,382.00
		Cut and cap existing 6"						
		water main; complete as						
	4352	specified	Each	2.00	\$800.00	\$1,600.00	\$2,172.00	\$4,344.00
		Cut and cap existing 8"						
	40=4	water main; complete as		2.00	******	44 000 00	42.255.00	#4. = 44.00
	4354	specified Furnish and install 6"	Each	2.00	\$900.00	\$1,800.00	\$2,257.00	\$4,514.00
		water main gate valve;						
	4401	complete as specified	T. J.	6.00	#2 200 00	#12.200.00	#1 027 00	#11 FF(00
	4401	Furnish and install 8"	Each	6.00	\$2,200.00	\$13,200.00	\$1,926.00	\$11,556.00
		water main gate valve;						
	4402	complete as specified	Each	23.00	\$3,100.00	\$71,300.00	\$2,721.00	\$62,583.00
	4402	Furnish and install	Eacri	23.00	\$5,100.00	\$71,500.00	\$2,721.00	\$02,363.00
		hydrant; complete as						
	4500	specified	Each	5.00	\$6,500.00	\$32,500.00	\$6,516.00	\$32,580.00
	1500	Furnish and install 2"	Bucii	0.00	φ0,000.00	ψ02,000.00	φ0,310.00	ψ02,000.00
		water main casing pipe;						
	4712	complete as specified	Linear Feet	40.00	\$100.00	\$4,000.00	\$28.00	\$1,120.00
		Furnish and install 4"		10.00	Ψ100.00	ψ 1,000.00	\$25.00	ψ1/1 <u>2</u> 0.00
		water main casing pipe;						
	4714	complete as specified	Linear Feet	10.00	\$110.00	\$1,100.00	\$39.00	\$390.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 11/17/2025 11	:00 AM CST							
					Carl Bowers & Son	ns Const. Co., Inc.	Advance Con	struction Inc.
					N1844 Mal	oney Road		
					Kaukauna,	WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Rock excavation;						
	4800	complete as specified	Cubic Yards	30.00	\$0.01	\$0.30	\$0.01	\$0.30
		Abandon water main on						
		Scott Avenue; complete						
	4900	as specified	Lump Sum	1.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
		Abandon water main on						
		West 12th Avenue;						
	4902	complete as specified	Lump Sum	1.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
		Remove water main;						
	4920	complete as specified	Linear Feet	170.00	\$25.00	\$4,250.00	\$71.00	\$12,070.00
		Excavation special						
	4000	(water); complete as		40.00	40.04	#0.40	44.00	4=(0.00
Section 2: Alternate 1	4990	specified	Tons	40.00	\$0.01	\$0.40	\$14.00	\$560.00
Section 2: Alternate I		Salvaged crushed				(\$61,100.00)		(\$44,180.00)
		concrete credit; complete						
	500-1	as specified	Tons	18,800.00	(#P 00)	(\$150,400.00)	(\$6.00\)	(\$112,800.00)
	500-1	as specified	ions	10,800.00	(\$8.00)	(\$150,400.00)	(\$6.00)	(\$112,800.00)
		Fernau concrete crushing;						
	510-1	complete as specified	Tons	18,800.00	\$4.75	\$89,300.00	\$3.65	\$68,620.00
Bid Total:						\$4,319,449.55		\$4,350,450.31

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City								
, , , , , , , , , , , , , , , , , , , ,	, -							
Bid Opening: 11/17/2025 11	1:00 AM CST							
					Jossart Bro	thers. Inc.	Dorne	er Inc.
					,,,,,,,,,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1: Base Bid	Treat code	item Besemption		Quantity	O.M. T.H.C	\$4,470,128.40	0	\$4,507,495.33
occion i. base bia		Clearing; complete as				ψ1,170,120:10		Ψ1/007/190.00
	1011	specified	Inch Diameter	60.00	\$50.00	\$3,000.00	\$47.00	\$2,820.00
	1011	Grubbing; complete as	men Diameter	00.00	φ50.00	ψ5,000.00	ψ17.00	φ2,020.00
	1021	specified	Inch Diameter	60.00	\$50.00	\$3,000.00	\$47.00	\$2,820.00
	1021	Mobilization; complete as	I.c. Duncter	55.00	φ50.00	ψ5,000.00	ψ17.00	Ψ2,020.00
	1050	specified	Lump Sum	1.00	\$210,000.00	\$210,000.00	\$130,000.00	\$130,000.00
	1000	Business access plan and	zump oum	1.00	\$210,000.00	Ψ210/000.00	\$150,000.00	Ψ100/000.00
		signage; complete as						
	1051	specified	Each	1.00	\$1,200.00	\$1,200.00	\$1,046.00	\$1,046.00
		Removing pavement;			+=/======	+-)=	4-/	4-/
	1100	complete as specified	Square Yards	11,300.00	\$0.01	\$113.00	\$2.60	\$29,380.00
		Removing curb and			·	·	·	
		gutter; complete as						
	1110	specified	Linear Feet	370.00	\$10.50	\$3,885.00	\$3.00	\$1,110.00
		Removing concrete and				·		
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	37,500.00	\$0.86	\$32,250.00	\$0.70	\$26,250.00
		Unclassified excavation;	-					
	1200	complete as specified	Cubic Yards	3,860.00	\$24.70	\$95,342.00	\$19.00	\$73,340.00
		Excavation special						
		(paving); complete as						
	1220	specified	Tons	570.00	\$0.01	\$5.70	\$0.01	\$5.70
		7" concrete pavement;						
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	9,910.00	\$62.15	\$615,906.50	\$60.10	\$595,591.00
		7" concrete pavement		1				
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	900.00	\$66.35	\$59,715.00	\$64.20	\$57,780.00
		8" concrete pavement						
		HES; with 6" CABC and						
		grading; complete as						
	1313	specified	Square Yards	160.00	\$90.20	\$14,432.00	\$87.90	\$14,064.00
		Concrete pavement gaps;						
	1334	complete as specified	Each	3.00	\$0.01	\$0.03	\$0.01	\$0.03

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	7 of							
Bid Opening: 11/17/2025 11	:00 AM CST							
1 0								
					Jossart Bro	thers, Inc.	Dorne	er Inc.
						·		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	570.00	\$17.30	\$9,861.00	\$12.00	\$6,840.00
		Pavement ties; complete						
	1350	as specified	Each	99.00	\$10.50	\$1,039.50	\$10.50	\$1,039.50
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	158.00	\$14.70	\$2,322.60	\$14.60	\$2,306.80
		Drilled dowel bars; 1 1/4";						
	1354	complete as specified	Each	48.00	\$17.30	\$830.40	\$17.30	\$830.40
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	77.00	\$600.00	\$46,200.00	\$444.00	\$34,188.00
		Turf restoration;						
	1370	complete as specified	Square Yards	4,800.00	\$7.15	\$34,320.00	\$10.00	\$48,000.00
		Restore gravel driveway/						
		apron; complete as						
	1372	specified	Square Yards	140.00	\$52.50	\$7,350.00	\$9.40	\$1,316.00
		Cold weather covering						
		(concrete pavement) -						
	4200	single visquine; complete		4.075.00	20.04	040 ==	40.04	440
	1380	as specified	Square Yards	1,075.00	\$0.01	\$10.75	\$0.01	\$10.75
		Up-charge for late season cold weather concrete						
	1200	pavement; complete as	Calda Vanda	210.00	¢0.01	¢2.10	¢0.01	¢2.10
	1390	specified 12" radius curb with 6"	Cubic Yards	210.00	\$0.01	\$2.10	\$0.01	\$2.10
		CABC and grading;						
	1410	complete as specified	Linear Feet	405.00	\$14.70	\$5,953.50	\$15.90	\$6,439.50
	1410	30" curb and gutter; 7";	Linear reet	403.00	\$14.70	φυ ₁ 903.30	\$15.50	\$0,439.50
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	290.00	\$69.30	\$20,097.00	\$71.20	\$20,648.00
	1110	Sidewalk curb; complete	_mear reet	250.00	φ03.00	\$25,577.00	\$71.20	Ψ20,010.00
	1460	as specified	Linear Feet	210.00	\$79.00	\$16,590.00	\$78.40	\$16,464.00
	1100	F	Lincul I cet	210.00	φ, 7.00	φ10,070.00	φ, 0.40	Ψ10,101.00
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	21,050.00	\$8.55	\$179,977.50	\$7.30	\$153,665.00

Contract 26-02 - Scott Avenu	ie and West 12th	Avenue Reconstruction (#99	926737)					
Owner: Oshkosh WI, City o	f							
Solicitor: Oshkosh WI, City	of							
3id Opening: 11/17/2025 11:	:00 AM CST							
• •								
					Jossart Bro	thers, Inc.	Dorne	r Inc.
						·		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	13,875.00	\$8.95	\$124,181.25	\$7.70	\$106,837.50
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	2,475.00	\$9.20	\$22,770.00	\$7.90	\$19,552.50
		6" concrete step; complete						
	1530	as specified	Square Feet	960.00	\$79.00	\$75,840.00	\$78.40	\$75,264.00
		Curb ramp detectable						
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	230.00	\$42.00	\$9,660.00	\$41.80	\$9,614.00
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	6,660.00	\$2.10	\$13,986.00	\$2.10	\$13,986.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	290.00	\$8.40	\$2,436.00	\$8.00	\$2,320.00
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	3,755.00	\$0.01	\$37.55	\$0.01	\$37.55
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	3,755.00	\$0.01	\$37.55	\$0.01	\$37.5
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	60.00	\$15.75	\$945.00	\$15.70	\$942.00
		Furnish and install tree;						
	1600	complete as specified	Each	3.00	\$700.00	\$2,100.00	\$575.00	\$1,725.00
		Locate existing property	<u> </u>			<u> </u>		<u> </u>
		monuments; complete as						
	1650	specified	Each	23.00	\$135.00	\$3,105.00	\$131.00	\$3,013.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
<u> </u>								
Bid Opening: 11/17/2025 11	1:00 AM CST							
1 0								
					Jossart Bro	others, Inc.	Dorne	er Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	23.00	\$27.00	\$621.00	\$26.00	\$598.00
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	1,050.00	\$3.00	\$3,150.00	\$2.50	\$2,625.00
		Sawing concrete						
		pavement full depth;						
	1710	complete as specified	Linear Feet	640.00	\$5.00	\$3,200.00	\$4.50	\$2,880.00
		Tack coat; complete as						
	1900	specified	Gallons	9.00	\$9.20	\$82.80	\$9.00	\$81.00
		4" asphaltic transition LT						
		with 10" CABC and						
	4044	grading; complete as	0 1/ 1	40= 00		420.245.00	45100	405.455.5
	1911	specified 4" asphaltic surface LT	Square Yards	495.00	\$57.00	\$28,215.00	\$54.90	\$27,175.50
		with 6" CABC and						
	1916	grading; complete as specified	Carrana Vanda	125.00	\$68.60	\$8,575.00	\$62.50	\$7,812.50
	1916	2" asphaltic surface LT	Square Yards	125.00	Φ00.00	\$6,373.00	\$62.30	\$7,612.30
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	50.00	\$73.70	\$3,685.00	\$70.70	\$3,535.00
	1717	Asphaltic cold weather	Square raras	50.00	ψ10.70	φο,οοο.οο	ψ/ 0.7 0	φο,οοο.οι
		paving up-charge;						
	1918	complete as specified	Square Yards	66.00	\$1.00	\$66.00	\$1.00	\$66.00
		Furnish and install 12"	1		,	,	,	,
		storm sewer; complete as						
	2003	specified	Linear Feet	625.00	\$73.00	\$45,625.00	\$69.00	\$43,125.00
		Furnish and install 15"				· · · · · · · · · · · · · · · · · · ·		
		storm sewer; complete as						
	2006	specified	Linear Feet	250.00	\$77.00	\$19,250.00	\$70.00	\$17,500.00
		Furnish and install 18"						
		storm sewer; complete as						
	2009	specified	Linear Feet	15.00	\$100.00	\$1,500.00	\$123.00	\$1,845.00
		Furnish and install 21"						
		storm sewer; complete as						
	2012	specified	Linear Feet	310.00	\$108.00	\$33,480.00	\$90.00	\$27,900.00
		Furnish and install 24"		Ι Τ				
		storm sewer; complete as						
	2015	specified	Linear Feet	1,200.00	\$108.00	\$129,600.00	\$93.00	\$111,600.00

Contract 26-02 - Scott Avenu	e and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City of	f							
Solicitor: Oshkosh WI, City	of							
·								
Bid Opening: 11/17/2025 11:	00 AM CST							
1 0								
				+	Jossart Bro	thers. Inc.	Dorne	er Inc.
				1	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 27"						
		storm sewer; complete as						
	2018	specified	Linear Feet	50.00	\$125.00	\$6,250.00	\$138.00	\$6,900.0
		Furnish and install 14" x						
		23" HERCP Class III						
		storm sewer; complete as						
	2045	specified	Linear Feet	25.00	\$170.00	\$4,250.00	\$150.00	\$3,750.00
		Furnish and install 24" x						
		38" HERCP Class III						
		storm sewer; complete as						
	2049	specified	Linear Feet	200.00	\$205.00	\$41,000.00	\$199.00	\$39,800.00
		Furnish and install 29" x		1				
		45" HERCP Class III						
		storm sewer; complete as						
	2051	specified	Linear Feet	330.00	\$285.00	\$94,050.00	\$253.00	\$83,490.00
		Furnish and install 38" x						
		60" HERCP Class III						
		storm sewer; complete as						
	2055	specified	Linear Feet	350.00	\$340.00	\$119,000.00	\$352.00	\$123,200.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	53.00	\$1,085.00	\$57,505.00	\$962.00	\$50,986.00
		Furnish and install			, ,	,,,,,,,,,,	*******	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	21.25	\$1,500.00	\$31,875.00	\$1,148.00	\$24,395.0
		Furnish and install			, ,	1. /	, ,	, , , , , , , , , , , , , , , , , , , ,
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	11.75	\$1,875.00	\$22,031.25	\$1,463.00	\$17,190.2
	1	Furnish and install			4-/100		4-,5100	4,->0120
		standard storm sewer		1				
		manhole (7' x 7' box);		1				
	2210	complete as specified	Vertical Feet	9.00	\$2,350.00	\$21,150.00	\$4,003.00	\$36,027.00
		Furnish and install			, ,	, ,	. ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1. 2/0
		standard storm sewer		1				
		inlet manhole (4'		1				
		diameter); complete as		1				
	2213	specified	Vertical Feet	5.10	\$925.00	\$4,717.50	\$851.00	\$4,340.10

Contract 26-02 - Scott Avenue	e and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City of			,					
Solicitor: Oshkosh WI, City								
Sometion Common 1127 City								
Bid Opening: 11/17/2025 11:0	0 AM CST							
214 Opening, 11,17,2020 110	1 11111 651							
					Jossart Brot	thers Inc	Dorne	r Inc
					jossuit Biol	incis, inc.	Bonke	i iic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install Type 1						
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$4,000.00	\$4,000.00	\$3,958.00	\$3,958.00
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	35.00	\$3,350.00	\$117,250.00	\$3,519.00	\$123,165.00
		Furnish and install 6"						
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	2,550.00	\$71.00	\$181,050.00	\$56.00	\$142,800.00
		Furnish and install 8"						
	0.400	storm sewer lateral;	· · · · · · · · · · · · · · · · · · ·	20.00	455.00	42.250.00	400.00	42 400 00
	2402	complete as specified	Linear Feet	30.00	\$75.00	\$2,250.00	\$80.00	\$2,400.00
		Furnish and install storm						
	2404	sewer marker balls;	F1.	155.00	#20.00	#4.CE0.00	#22.00	¢4.000.00
	2404	complete as specified Furnish and install storm	Each	155.00	\$30.00	\$4,650.00	\$32.00	\$4,960.00
		sewer clay dams;						
	2406		Faals	90.00	¢75.00	\$6,000.00	\$102.00	¢9.160.00
	2406	complete as specified	Each	80.00	\$75.00	\$6,000.00	\$102.00	\$8,160.00
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	75.00	\$1,100.00	\$82,500.00	\$1,242.00	\$93,150.00
	2400	Storm lateral inlet	Each	75.00	\$1,100.00	\$62,300.00	\$1,242.00	\$75,150.00
		adjustments; complete as						
	2414	specified	Each	10.00	\$100.00	\$1,000.00	\$116.00	\$1,160.00
	2414	эрсеней	Lacii	10.00	\$100.00	\$1,000.00	ψ110.00	\$1,100.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	80.00	\$80.00	\$6,400.00	\$105.00	\$8,400.00
	2000	Sediment removal - Type	Lucii	00.00	φοσ.σσ	φ0,100.00	φ100.00	φο, 100.00
		D modified inlet						
		protection; complete as						
	2510	specified	Each	80.00	\$16.00	\$1,280.00	\$16.00	\$1,280.00
	2010	Furnish; install; maintain;	Lucii	00.00	\$10.00	\$1) 2 00.00	\$10.00	\$1) 2 00.00
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	4.00	\$500.00	\$2,000.00	\$150.00	\$600.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit								
· · ·								
Bid Opening: 11/17/2025 12	1:00 AM CST							
9								
					Jossart Bro	thers, Inc.	Dorne	r Inc.
					,	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		·						
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	80.00	\$11.50	\$920.00	\$10.00	\$800.00
		Furnish; install; maintain;						
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	50.00	\$6.50	\$325.00	\$13.00	\$650.00
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	2.00	\$0.01	\$0.02	\$150.00	\$300.00
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	675.00	\$10.00	\$6,750.00	\$10.00	\$6,750.00
		Abandon 15" and larger						
	2002	storm sewer; complete as	LinnarEnd	725.00	#2F 00	#10 1 2 F 00	# 2 0.00	#14 F00 00
	2802	specified Remove 30" and smaller	Linear Feet	725.00	\$25.00	\$18,125.00	\$20.00	\$14,500.00
		storm sewer; complete as						
	2804	specified	Linear Feet	850.00	\$44.00	¢27 400 00	\$35.00	¢20.750.00
	2004	Abandon storm sewer	Linear reet	850.00	\$44.00	\$37,400.00	φ33.00	\$29,750.00
		manholes and inlets;						
	2810	complete as specified	Each	12.00	\$500.00	\$6,000.00	\$509.00	\$6,108.00
	2010	Remove storm sewer	Lacri	12.00	ψ300.00	φ0,000.00	φ507.00	ψ0,100.00
		manholes and inlets;						
	2812	complete as specified	Each	20.00	\$500.00	\$10,000.00	\$602.00	\$12,040.00
	2012	Connect to existing storm	- Lucii	20.00	400000	\$10,000.00	φου2.00	ψ12/01010C
		sewer main; complete as						
	2850	specified	Each	12.00	\$1,500.00	\$18,000.00	\$1,691.00	\$20,292.00
		Connect to existing storm			4-,3100	4-0,000	4-,0, 1100	4-0,-22100
		sewer lateral; complete as						
	2852	specified	Each	5.00	\$250.00	\$1,250.00	\$385.00	\$1,925.00
		Connect to existing storm			,	, ,	,	. , =====
		sewer manhole; complete						
	2856	as specified	Each	2.00	\$1,750.00	\$3,500.00	\$1,641.00	\$3,282.00
		Connect to existing storm			. ,	. ,	. ,	.,,
		sewer inlet; complete as						
	2858	specified	Each	1.00	\$1,500.00	\$1,500.00	\$1,255.00	\$1,255.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
•								
Bid Opening: 11/17/2025 11	1:00 AM CST							
					Jossart Broth	hers, Inc.	Dorne	r Inc.
					,	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Storm sewer utility line		~ ,				
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$750.00	\$3,750.00	\$150.00	\$750.00
		Excavation special			,	,,,	,	,
		(storm); complete as						
	2950	specified	Tons	150.00	\$0.01	\$1.50	\$15.00	\$2,250.00
		Furnish and install 8"			1	,	,	, ,
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	2,525.00	\$119.00	\$300,475.00	\$167.00	\$421,675.00
		Furnish and install 10"		,	·		·	
		sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	5.00	\$125.00	\$625.00	\$328.00	\$1,640.00
		Furnish and install 12"						•
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	20.00	\$150.00	\$3,000.00	\$247.00	\$4,940.00
		Furnish and install 24"				·		•
		sanitary sewer (relay);						
	3012	complete as specified	Linear Feet	5.00	\$200.00	\$1,000.00	\$285.00	\$1,425.00
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	10.00	\$1,100.00	\$11,000.00	\$654.00	\$6,540.00
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	148.00	\$560.00	\$82,880.00	\$605.00	\$89,540.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	15.00	\$625.00	\$9,375.00	\$601.00	\$9,015.00
		Furnish and install						
		sanitary sewer internal						
		sealing system flex seal						
		utility sealant kit;						
	3118	complete as specified	Each	2.00	\$1,000.00	\$2,000.00	\$444.00	\$888.00
		Furnish and install						
		sanitary sewer internal						
		sealing system flex seal						
		utility sealant kit						
		extension; complete as						
	3119	specified	Each	2.00	\$300.00	\$600.00	\$282.00	\$564.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#99	926737)					
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
	,							
Bid Opening: 11/17/2025 11	1:00 AM CST			1				
					Jossart Bro	there Inc	Dorne	r Inc
				+	Jossait Dio	dicis, inc.	Done	i inc.
				+				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Furnish and install 8" x 4"	COLIVI	Qualitity	Ollit Frice	Extension	Office	Extension
		sanitary sewer factory						
		1 1						
	2200	wyes or tees; complete as	T1.	2.00	¢125.00	¢250.00	#182.00	#264.00
	3200	specified Furnish and install 8" x 6"	Each	2.00	\$125.00	\$250.00	\$182.00	\$364.00
		sanitary sewer factory						
	2210	wyes or tees; complete as	Е 1	00.00	#1F0.00	#12 000 00	#20F 00	#1 C 400 00
	3210	specified Furnish and install 4"	Each	80.00	\$150.00	\$12,000.00	\$205.00	\$16,400.00
		sanitary sewer laterals						
		(new); complete as			****		****	
	3230	specified	Linear Feet	80.00	\$104.00	\$8,320.00	\$114.00	\$9,120.00
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as			****		****	
	3234	specified	Linear Feet	2,800.00	\$104.00	\$291,200.00	\$118.00	\$330,400.00
		Furnish and install 4"/6"						
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	100.00	\$110.00	\$11,000.00	\$158.00	\$15,800.00
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	160.00	\$30.00	\$4,800.00	\$32.00	\$5,120.00
		Furnish and install clay						
		dams; complete as						
	3238	specified	Each	80.00	\$75.00	\$6,000.00	\$102.00	\$8,160.00
		Furnish and install						
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	4.00	\$1,000.00	\$4,000.00	\$3,017.00	\$12,068.00
		Furnish and install						
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$1,200.00	\$1,200.00	\$3,976.00	\$3,976.00
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	2.00	\$1,500.00	\$3,000.00	\$2,602.00	\$5,204.00

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of							
olicitor: Oshkosh WI, City	of							
3id Opening: 11/17/2025 11	:00 AM CST							
					Jossart Bro	thers, Inc.	Dorne	r Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		connection to existing 24"						
		sanitary sewer mains;						
	3312	complete as specified	Each	1.00	\$3,500.00	\$3,500.00	\$3,207.00	\$3,207.00
		Furnish and install						
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	2.00	\$750.00	\$1,500.00	\$600.00	\$1,200.00
		Furnish and install 10"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	50.00	\$150.00	\$7,500.00	\$266.00	\$13,300.00
		Rock excavation;						
	3600	complete as specified	Cubic Yards	30.00	\$0.01	\$0.30	\$0.01	\$0.30
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	2,555.00	\$2.00	\$5,110.00	\$1.50	\$3,832.50
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	5.00	\$400.00	\$2,000.00	\$255.00	\$1,275.00
		Abandon sanitary sewer						
		manholes; complete as						
	3800	specified	Each	4.00	\$500.00	\$2,000.00	\$424.00	\$1,696.00
		Abandon 8" sanitary						
		sewer; complete as						
	3802	specified	Linear Feet	545.00	\$10.00	\$5,450.00	\$6.00	\$3,270.00
		Abandon 12" sanitary						
		sewer; complete as						
	3806	specified	Linear Feet	36.00	\$15.00	\$540.00	\$11.00	\$396.00
		Abandon 12" x 19"						
		sanitary sewer; complete						
	3809	as specified	Linear Feet	555.00	\$20.00	\$11,100.00	\$16.00	\$8,880.00
		Remove sanitary sewer						
		manholes; complete as						
	3852	specified	Each	5.00	\$500.00	\$2,500.00	\$599.00	\$2,995.00
		Remove sanitary sewer;						
	3854	complete as specified	Linear Feet	150.00	\$45.00	\$6,750.00	\$52.00	\$7,800.00
		Sanitary sewer utility line						
		opening (ULO); complete						
	3890	as specified	Each	5.00	\$750.00	\$3,750.00	\$150.00	\$750.00

and West 12th	Avenue Reconstruction (#9	926737)			ļ		
AM CST							
				Jossart Bro	thers, Inc.	Dorne	r Inc.
Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	Excavation special						
	(sanitary); complete as						
3892	specified	Tons	40.00	\$0.01	\$0.40	\$15.00	\$600.00
	Furnish and install 6"						
	ductile iron water main						
	(relay) with polywrap;						
4002	complete as specified	Linear Feet	225.00	\$125.00	\$28,125.00	\$144.00	\$32,400.00
	Furnish and install 8"						
	ductile iron water main						
	(relay) with polywrap;						
4004	complete as specified	Linear Feet	2,615.00	\$135.00	\$353,025.00	\$147.00	\$384,405.00
	Furnish and install 1"						
	water service (relay);						
4036	complete as specified	Linear Feet	2,560.00	\$88.00	\$225,280.00	\$91.00	\$232,960.00
	· 1						
4037		Linear Feet	50.00	\$95.00	\$4,750.00	\$94.00	\$4,700.00
4042	complete as specified	Linear Feet	100.00	\$88.00	\$8,800.00	\$90.00	\$9,000.00
	E 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1						
1010			70 00	4550.00	****	# (2 0 00	# # 7 2 4 4 0 0
4048	complete as specified	Each	72.00	\$550.00	\$39,600.00	\$628.00	\$45,216.00
	Errorials and install 1 1/4"						
4050		Eash	1.00	¢1 000 00	¢1 000 00	¢1 124 00	¢1 124 00
4030		Eacn	1.00	\$1,000.00	\$1,000.00	\$1,134.00	\$1,134.00
4055	•	Fach	73.00	\$75.00	\$5.475.00 l	¢192.00	\$14,089.00
4000		Eacii	75.00	φ/3.00	φυ,470.00	φ193.00	φ1+,009.00
4058		Fach	6.00	\$2,000.00	\$12,000.00	\$3 253 00	\$19,518.00
4000	1	Latt	0.00	Ψ2,000.00	φ12,000.00	φ5,253.00	φ12,516.00
4060	_	Fach	4.00	\$2.250.00	\$9,000.00	\$3.754.00	\$15,016.00
	AM CST Item Code 3892 4002	AM CST Item Code Item Description	AM CST Item Code Item Description Excavation special (sanitary); complete as specified Furnish and install 6" ductile iron water main (relay) with polywrap; complete as specified Furnish and install 8" ductile iron water main (relay) with polywrap; doutile iron water main (relay) with polywrap; ductile iron water main (relay) with polywrap; ductil	AM CST Item Code Item Description Excavation special (sanitari); complete as specificd Furnish and install 6" ductile iron water main (relay) with polywriap; complete as specified Furnish and install 8" ductile iron water main (relay) with polywriap; ductile iron water main (relay) with polywriap; ductile iron water main (relay) with specified Furnish and install 1" water service (relay); complete as specified Furnish and install 1-1/4" water service (relay); complete as specified Furnish and install 1-1/4" water service (relay); complete as specified Furnish and install 1.1/4" water service (relay); complete as specified Furnish and install 1.1/4" comporation and stop box; complete as specified Furnish and install 1.1/4" corporation and stop box; complete as specified Furnish and install 1.1/4" corporation and stop box; complete as specified Furnish and install 1.1/4" corporation and stop box; complete as specified Furnish and install water service clay dams; 4050 complete as specified Furnish and install connections to existing 6" water main; complete as specified Furnish and install connections to existing 6" water main; complete as specified Furnish and install connections to existing 8" water main; complete as specified Furnish and install connections to existing 8" water main; complete as specified Furnish and install connections to existing 8" water main; complete as specified Furnish and install connections to existing 8" water main; complete as specified Furnish and install connections to existing 8" water main; complete as	AM CST Item Code Item Description Excavation special (sanitary); complete as specified Tons 40.00 \$0.01	AM CST	AM CST

Contract 26-02 - Scott Aven	ue and West 12th	Avenue Reconstruction (#99	926737)					
Owner: Oshkosh WI, City o	of		-					
Solicitor: Oshkosh WI, City								
, ,								
Bid Opening: 11/17/2025 11	:00 AM CST							
1 0								
					Jossart Brotl	hers, Inc.	Dorne	r Inc.
					,	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	5.00	\$800.00	\$4,000.00	\$968.00	\$4,840.00
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	3.00	\$910.00	\$2,730.00	\$1,075.00	\$3,225.00
		Furnish and install 8" x 8"						
		water main cross;						
	4189	complete as specified	Each	1.00	\$1,175.00	\$1,175.00	\$1,360.00	\$1,360.00
		Furnish and install 6" 45						
		degree water main bend;						
	4236	complete as specified	Each	24.00	\$350.00	\$8,400.00	\$479.00	\$11,496.00
		Furnish and install 8" 45						
		degree water main bend;						
	4237	complete as specified	Each	6.00	\$490.00	\$2,940.00	\$648.00	\$3,888.00
		Furnish and install 8" x 6"						
	4064	water main reducer;	Б. 1	6.00	#41F 00	#2 400 00	d=2= 00	#2 222 00
	4264	complete as specified	Each	6.00	\$415.00	\$2,490.00	\$537.00	\$3,222.00
		Cut and cap existing 6"						
	4352	water main; complete as	Each	2.00	\$500.00	\$1,000.00	\$1,181.00	\$2,362.00
	4332	specified Cut and cap existing 8"	Eacn	2.00	\$500.00	\$1,000.00	\$1,161.00	\$2,362.00
		water main; complete as						
	4354	specified	Each	2.00	\$500.00	\$1,000.00	\$1,465.00	\$2,930.00
	4554	Furnish and install 6"	Eacri	2.00	\$500.00	\$1,000.00	\$1,400.00	φ2,930.00
		water main gate valve;						
	4401	complete as specified	Each	6.00	\$2,175.00	\$13,050.00	\$2,229.00	\$13,374.00
	1101	Furnish and install 8"	Euch	0.00	Ψ2,170.00	Ψ10,000.00	Ψ2,227.00	Ψ10,07 1.00
		water main gate valve;						
	4402	complete as specified	Each	23.00	\$3,100.00	\$71,300.00	\$3,108.00	\$71,484.00
	1102	Furnish and install	Zucri	20.00	φ5/100.00	ψ, 1,000.00	ψο/100.00	ψ, 1) 10 1.00
		hydrant; complete as						
	4500	specified	Each	5.00	\$5,900.00	\$29,500.00	\$6,874.00	\$34,370.00
		Furnish and install 2"			.,	. ,	.,	. ,
	1	water main casing pipe;						
	4712	complete as specified	Linear Feet	40.00	\$25.00	\$1,000.00	\$112.00	\$4,480.00
		Furnish and install 4"				.,		.,
	1	water main casing pipe;						
	4714	complete as specified	Linear Feet	10.00	\$30.00	\$300.00	\$120.00	\$1,200.00

Contract 26-02 - Scott Avenu	ue and West 12th	Avenue Reconstruction (#9	926737)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 11/17/2025 11	:00 AM CST							
					Jossart Bro	thers, Inc.	Dorn	er Inc.
Section Title	Section Title Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Rock excavation;						
	4800	complete as specified	Cubic Yards	30.00	\$0.01	\$0.30	\$0.01	\$0.30
		Abandon water main on						
		Scott Avenue; complete						
	4900	as specified	Lump Sum	1.00	\$13,000.00	\$13,000.00	\$3,445.00	\$3,445.00
		Abandon water main on						
		West 12th Avenue;						
	4902	complete as specified	Lump Sum	1.00	\$6,000.00	\$6,000.00	\$638.00	\$638.00
	4000	Remove water main;		450.00	****	47 400 00	442.00	AT 240 00
	4920	complete as specified	Linear Feet	170.00	\$44.00	\$7,480.00	\$43.00	\$7,310.00
		Excavation special (water); complete as						
	4990	specified	Tons	40.00	\$0.01	\$0.40	\$15.00	\$600.00
Section 2: Alternate 1	4990	specified	TOTIS	40.00	\$0.01	(\$37,600.00)	\$15.00	(\$56,400.00)
Section 2. Attenuate 1		Salvaged crushed				(\$37,000.00)		(ψ50,400.00)
		concrete credit; complete						
	500-1	as specified	Tons	18,800.00	(\$7.00)	(\$131,600.00)	(\$8.00)	(\$150,400.00)
		1			(,,	(4 - 7 - 7 - 7 - 7 - 7	(1333)	(, , , , , , , , , , , , , , , , , , ,
		Fernau concrete crushing;						
	510-1	complete as specified	Tons	18,800.00	\$5.00	\$94,000.00	\$5.00	\$94,000.00
Bid Total:						\$4,432,528.40		\$4,451,095.33

Contract 26-02 - Scott Avenu	ue and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City o						
Solicitor: Oshkosh WI, City						
Sometion Common 1127 City						
Bid Opening: 11/17/2025 11	:00 AM CST					
Dia Opening. 11/1//2020 11	.00 1111 CO1					
					David Tenor	Corneration
					David Tellor	Corporation
				+		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1: Base Bid	item code	item Description	COLIVI	Qualitity	OllitTite	\$4,606,990.93
Section 1: Dase Diu		Clearing; complete as				\$4,000,550.55
	1011	specified	Inch Diameter	60.00	\$47.00	#2 820 00
	1011	Grubbing; complete as	inch Diameter	60.00	\$47.00	\$2,820.00
	1001	specified	In ah Diamatan	60.00	¢47.00	¢2 920 00
	1021	Mobilization; complete as	Inch Diameter	60.00	\$47.00	\$2,820.00
	1050	*	I C	1.00	¢102.000.00	#102 000 00
	1050	specified Business access plan and	Lump Sum	1.00	\$193,000.00	\$193,000.00
		signage; complete as				
	1051		Each	1.00	¢Ε Ε00 00	¢= =00 00
	1051	specified Removing pavement;	Eacn	1.00	\$5,500.00	\$5,500.00
	1100	0.1	C 1 -	11 200 00	¢0.01	¢112.00
	1100	complete as specified Removing curb and	Square Yards	11,300.00	\$0.01	\$113.00
		_				
	1110	gutter; complete as	T. T.	250 00	#10.20	#2 FF4 00
	1110	specified Removing concrete and	Linear Feet	370.00	\$10.20	\$3,774.00
		_				
		asphalt sidewalk and				
	4420	driveway; complete as		25 500 00	40.04	424 500 00
	1120	specified	Square Feet	37,500.00	\$0.84	\$31,500.00
	1200	Unclassified excavation;	61. 1/ 1	200000	42400	402 (10.00
	1200	complete as specified	Cubic Yards	3,860.00	\$24.00	\$92,640.00
		Excavation special				
	1000	(paving); complete as			40.04	4= =0
	1220	specified	Tons	570.00	\$0.01	\$5.70
		7" concrete pavement;				
		with 5" CABC and				
		grading; complete as				
	1301	specified	Square Yards	9,910.00	\$60.37	\$598,266.70
		7" concrete pavement				
		HES; with 5" CABC and				
		grading; complete as				
	1303	specified	Square Yards	900.00	\$64.45	\$58,005.00
		8" concrete pavement				
		HES; with 6" CABC and				
		grading; complete as	_			
	1313	specified	Square Yards	160.00	\$87.59	\$14,014.40
		Concrete pavement gaps;				
	1334	complete as specified	Each	3.00	\$0.01	\$0.03

Contract 26-02 - Scott Avenu	e and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of			•			
Solicitor: Oshkosh WI, City				1		
, , , ,						
Bid Opening: 11/17/2025 11:0	00 AM CST					
				1	David Tenor	Corporation
						I
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Crushed aggregate base				
		course; complete as				
	1340	specified	Tons	570.00	\$16.83	\$9,593.10
		Pavement ties; complete				
	1350	as specified	Each	99.00	\$10.20	\$1,009.80
		Drilled dowel bars; 1";				
	1352	complete as specified	Each	158.00	\$14.28	\$2,256.24
		Drilled dowel bars; 1 1/4";				
	1354	complete as specified	Each	48.00	\$16.83	\$807.84
		Adjust manholes and				
		inlets; complete as				
	1360	specified	Each	77.00	\$435.00	\$33,495.00
		Turf restoration;				
	1370	complete as specified	Square Yards	4,800.00	\$6.95	\$33,360.00
		Restore gravel driveway/				
		apron; complete as				
	1372	specified	Square Yards	140.00	\$51.00	\$7,140.00
		Cold weather covering				
		(concrete pavement) -				
		single visquine; complete				
	1380	as specified	Square Yards	1,075.00	\$0.01	\$10.75
		Up-charge for late season				
		cold weather concrete				
	1200	pavement; complete as	G 1: V 1	210.00	#O 01	40.10
	1390	specified 12" radius curb with 6"	Cubic Yards	210.00	\$0.01	\$2.10
		CABC and grading;				
	1410	complete as specified	Linear Feet	405.00	\$14.28	\$5,783.40
	1410	30" curb and gutter; 7";	Linear reet	405.00	\$14.20	\$5,765.40
		with 5" CABC and				
		grading; complete as				
	1440	specified	Linear Feet	290.00	\$67.32	\$19,522.80
	1770	Sidewalk curb; complete	Linear rect	250.00	φ07.52	ψ17,322.00
	1460	as specified	Linear Feet	210.00	\$76.50	\$16,065.00
	1100	F	Zancur rect	210.00	ψ, 0.50	ψ10,000.00
		4" concrete sidewalk with				
		3" CABC and grading;				
	1500	complete as specified	Square Feet	21,050.00	\$8.32	\$175,136.00
		1 17.5	1	, ,	, , , , ,	,

Contract 26-02 - Scott Avenu	e and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City	of					
Bid Opening: 11/17/2025 11:0	00 AM CST					
1 0						
					David Tenor	Corporation
						1
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		6" concrete sidewalk/		~~~~		
		driveway/ramp with 3"				
		CABC and grading;				
	1510	complete as specified	Square Feet	13,875.00	\$8.68	\$120,435.00
		6" concrete sidewalk/	- 1	20,010100	40.00	4320,30000
		driveway/ramp (HES)				
		with 3" CABC and				
		grading; complete as				
	1514	specified	Square Feet	2,475.00	\$8.94	\$22,126.50
	1011	6" concrete step; complete	Square reet	2,175.00	ψ0.51	Ψ22,120.30
	1530	as specified	Square Feet	960.00	\$76.50	\$73,440.00
	1550	Curb ramp detectable	Square reet	300.00	ψ/ 0.50	ψ, θ, 110.00
		warning field				
		(natural/non-painted);				
	1540	complete as specified	Square Feet	230.00	\$235.00	\$54,050.00
	1010	complete as specifica	Square reet	250.00	Ψ200.00	ψε 1,000.00
		No. 4 reinforcing rods -				
		deformed; epoxy-coated;				
	1550	complete as specified	Linear Feet	6,660.00	\$2.04	\$13,586.40
	1550	Drilled No. 4 sidewalk tie	Effical Teet	0,000.00	Ψ2.01	Ψ10,500.10
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	290.00	\$8.16	\$2,366.40
	1300	Cold weather covering	Laci	270.00	φ0.10	Ψ2,500.40
		(sidewalk) - single				
		visquine; complete as				
	1580	specified	Square Feet	3,755.00	\$0.01	\$37.55
	1300	Cold weather covering	Square reet	3,733.00	φ0.01	\$57.55
		(sidewalk) - double				
		visquine; complete as				
	1582	specified	Square Feet	3,755.00	\$0.01	\$37.55
	1362	Up-charge for late season	Square reet	3,733.00	φ0.01	\$57.55
		cold weather concrete				
		sidewalk; complete as				
	1590	specified	Cubic Yards	60.00	\$15.30	\$918.00
	1570	Furnish and install tree;	Cubic raids	00.00	ψ15.50	ψ210.00
	1600	complete as specified	Each	3.00	\$675.00	\$2,025.00
	1000	Locate existing property	Ducii	5.50	ψ07 3.00	φ2,020.00
		monuments; complete as				
	1650	specified	Each	23.00	\$128.00	\$2,944.00
	1000	opecined	Ducii	20.00	Ψ120.00	Ψ2,741.00

Contract 26-02 - Scott Avenue	e and West 12th	Avenue Reconstruction (#9	9926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	of					
,						
Bid Opening: 11/17/2025 11:0	00 AM CST					
					David Tenor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Replace existing property				
		monuments; complete as				
	1652	specified	Each	23.00	\$26.00	\$598.00
		Sawing existing				
		pavement; complete as				
	1700	specified	Linear Feet	1,050.00	\$2.00	\$2,100.00
		Sawing concrete				
		pavement full depth;				
	1710	complete as specified	Linear Feet	640.00	\$2.45	\$1,568.00
		Tack coat; complete as				
	1900	specified	Gallons	9.00	\$8.95	\$80.55
		4" asphaltic transition LT				
		with 10" CABC and				
		grading; complete as				
	1911	specified	Square Yards	495.00	\$55.43	\$27,437.85
		4" asphaltic surface LT				
		with 6" CABC and				
		grading; complete as				
	1916	specified	Square Yards	125.00	\$66.73	\$8,341.25
		2" asphaltic surface LT				
		with 6" CABC and				
		grading; complete as				
	1917	specified	Square Yards	50.00	\$71.65	\$3,582.50
		Asphaltic cold weather				
		paving up-charge;				
	1918	complete as specified	Square Yards	66.00	\$1.02	\$67.32
		Furnish and install 12"				
		storm sewer; complete as				
	2003	specified	Linear Feet	625.00	\$92.00	\$57,500.00
		Furnish and install 15"				
		storm sewer; complete as				
	2006	specified	Linear Feet	250.00	\$97.00	\$24,250.00
		Furnish and install 18"				
		storm sewer; complete as				
	2009	specified	Linear Feet	15.00	\$110.00	\$1,650.00
		Furnish and install 21"				
		storm sewer; complete as				
	2012	specified	Linear Feet	310.00	\$126.00	\$39,060.00
		Furnish and install 24"		T		
		storm sewer; complete as				
	2015	specified	Linear Feet	1,200.00	\$120.00	\$144,000.00

Contract 26-02 - Scott Avenue	and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	f					
Bid Opening: 11/17/2025 11:0	0 AM CST					
					David Tenor	Corporation
						1
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install 27"				
		storm sewer; complete as				
	2018	specified	Linear Feet	50.00	\$158.00	\$7,900.00
		Furnish and install 14" x				. ,
		23" HERCP Class III				
		storm sewer; complete as				
	2045	specified	Linear Feet	25.00	\$170.00	\$4,250.00
		Furnish and install 24" x			42.000	+ -)
		38" HERCP Class III				
		storm sewer; complete as				
	2049	specified	Linear Feet	200.00	\$211.00	\$42,200.00
	2013	Furnish and install 29" x	Emedi Teet	200.00	Ψ211.00	\$1 2,2 00.00
		45" HERCP Class III				
		storm sewer; complete as				
	2051	specified	Linear Feet	330.00	\$259.00	\$85,470.00
	2001	Furnish and install 38" x	Ellicar rect	550.00	Ψ207.00	φοσ,17 0.00
		60" HERCP Class III				
		storm sewer; complete as				
	2055	specified	Linear Feet	350.00	\$324.00	\$113,400.00
	2000	Furnish and install	Eliteur rect	000.00	4021100	ψ110/100.00°
		standard storm sewer				
		manhole (4' diameter);				
	2201	complete as specified	Vertical Feet	53.00	\$1,410.00	\$74,730.00
		Furnish and install			4-/	4/
		standard storm sewer				
		manhole (5' diameter);				
	2202	complete as specified	Vertical Feet	21.25	\$1,415.00	\$30,068.75
		Furnish and install	vertical rect	21.20	Ψ1/110.00	\$20,000.ii 0
		standard storm sewer				
		manhole (6' diameter);				
	2203	complete as specified	Vertical Feet	11.75	\$1,732.00	\$20,351.00
		Furnish and install			4-7/	4=0,000=1000
		standard storm sewer				
		manhole (7' x 7' box);				
	2210	complete as specified	Vertical Feet	9.00	\$2,140.00	\$19,260.00
		Furnish and install			. , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,
		standard storm sewer				
		inlet manhole (4'				
		diameter); complete as				
	2213	specified	Vertical Feet	5.10	\$965.00	\$4,921.50
	2213	specified	vertical Feet	5.10	\$965.00	\$4,921.50

Contract 26-02 - Scott Avenue	and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of	:					
Sometion Common 112, City of						
Bid Opening: 11/17/2025 11:00	AM CST					
	1111 CO1					
					David Tenor	Cornoration
					David Tellor	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	item code	Furnish and install Type 1	COLIVI	Qualitity	Ollit I lice	Extension
		inlet (with 18" sump);				
	2235	complete as specified	Each	1.00	\$4,000.00	\$4,000.00
	2233	Furnish and install Type 3	EdCII	1.00	\$4,000.00	\$4,000.00
		inlet (with 18" sump);				
	2237	complete as specified	Each	35.00	\$3,560.00	\$124,600.00
	2237	Furnish and install 6"	Lacii	33.00	\$5,500.00	\$124,000.00
		storm sewer lateral;				
	2400	complete as specified	Linear Feet	2,550.00	\$67.00	\$170,850.00
	2400	Furnish and install 8"	Ellicai i cct	2,550.00	ψ07.00	ψ170,050.00
		storm sewer lateral;				
	2402	complete as specified	Linear Feet	30.00	\$77.00	\$2,310.00
	2402	compicte as specifica	Ellicai i cct	30.00	ψ11.00	Ψ2,310.00
		Furnish and install storm				
		sewer marker balls;				
	2404	complete as specified	Each	155.00	\$30.00	\$4,650.00
	2101	Furnish and install storm	Lucii	150.00	\$20.00	\$ 1/00 0.00
		sewer clay dams;				
	2406	complete as specified	Each	80.00	\$50.00	\$4,000.00
	2100		zacri	00.00	\$00.00	\$ 1,000.00
		Furnish and install storm				
		sewer lateral inlet;				
	2408	complete as specified	Each	75.00	\$1,200.00	\$90,000.00
		Storm lateral inlet			·	·
		adjustments; complete as				
	2414	specified	Each	10.00	\$75.00	\$750.00
		Furnish; install; maintain;				
		and remove Type D				
		modified inlet protection;				
	2508	complete as specified	Each	80.00	\$77.00	\$6,160.00
		Sediment removal - Type				
		D modified inlet				
		protection; complete as				
	2510	specified	Each	80.00	\$15.45	\$1,236.00
		Furnish; install; maintain;				
		and remove stone				
		tracking pad; complete as				
	2512	specified	Each	4.00	\$1,250.00	\$5,000.00

Contract 26-02 - Scott Avenue	and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of	f .					
Bid Opening: 11/17/2025 11:00	AM CST					
T S						
					David Tenor	Corporation
					24/14 101101	Corporation
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish; install; maintain;				
		and remove stone bag;				
	2516	complete as specified	Each	80.00	\$11.33	\$906.40
		1 1			·	·
		Furnish; install; maintain;				
		and remove 12" diameter				
		sediment logs; complete				
	2518	as specified	Linear Feet	50.00	\$6.45	\$322.50
		r			,	1.
		Furnish; install; maintain;				
		and remove dewatering				
		tank system; complete as				
	2524	specified	Each	2.00	\$2,000.00	\$4,000.00
	2024	Abandon 8" - 12" storm	Laci	2.00	Ψ2,000.00	\$4,000.00
		sewer; complete as				
	2800	specified	Linear Feet	675.00	\$10.00	\$6,750.00
	2000	Abandon 15" and larger	Ellicar rect	075.00	ψ10.00	φο,7 30.00
		storm sewer; complete as				
	2802	specified	Linear Feet	725.00	\$30.00	\$21,750.00
	2002	Remove 30" and smaller	Ellicar rect	723.00	φ50.00	Ψ21,730.00
		storm sewer; complete as				
	2804	specified	Linear Feet	850.00	\$60.00	\$51,000.00
	2004	Abandon storm sewer	Linear reet	830.00	\$60.00	\$31,000.00
		manholes and inlets;				
	2810	complete as specified	Each	12.00	\$450.00	\$5,400.00
	2010	Remove storm sewer	Eacii	12.00	\$450.00	\$5,400.00
		manholes and inlets;				
	2812	•	Each	20.00	\$500.00	\$10,000.00
	2012	complete as specified Connect to existing storm	Eacn	20.00	\$300.00	\$10,000.00
	2850	sewer main; complete as	Each	12.00	\$1,400.00	#14 900 00
	2650	specified Connect to existing storm	Eacn	12.00	\$1,400.00	\$16,800.00
	2052	sewer lateral; complete as	Ea-h	5.00	# 20 E 00	#1 10F 00
	2852	specified Connect to existing storm	Each	5.00	\$225.00	\$1,125.00
	2057	sewer manhole; complete	Ea-h	2.00	¢700.00	#1 400 00
	2856	as specified Connect to existing storm	Each	2.00	\$700.00	\$1,400.00
	2858	sewer inlet; complete as	Ea-h	1.00	#4E0.00	#4F0.00
	2838	specified	Each	1.00	\$450.00	\$450.00

Contract 26-02 - Scott Avenue	and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	f					
Bid Opening: 11/17/2025 11:0	0 AM CST					
1 0						
					David Tenor	Corporation
						•
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Storm sewer utility line				
		opening (ULO); complete				
	2914	as specified	Each	5.00	\$550.00	\$2,750.00
		Excavation special				
		(storm); complete as				
	2950	specified	Tons	150.00	\$16.00	\$2,400.00
		Furnish and install 8"				
		sanitary sewer (relay);				
	3000	complete as specified	Linear Feet	2,525.00	\$140.00	\$353,500.00
		Furnish and install 10"				
		sanitary sewer (relay);				
	3002	complete as specified	Linear Feet	5.00	\$185.00	\$925.00
		Furnish and install 12"				
		sanitary sewer (relay);				
	3004	complete as specified	Linear Feet	20.00	\$200.00	\$4,000.00
		Furnish and install 24"				
		sanitary sewer (relay);				
	3012	complete as specified	Linear Feet	5.00	\$400.00	\$2,000.00
		Furnish and install 8"				
		sanitary sewer drop;				
	3060	complete as specified	Vertical Feet	10.00	\$650.00	\$6,500.00
		Furnish and install				
		standard sanitary sewer				
		manhole (4' diameter);				
	3100	complete as specified	Vertical Feet	148.00	\$650.00	\$96,200.00
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal;				
	3114	complete as specified Furnish and install	Each	15.00	\$590.00	\$8,850.00
		sanitary sewer internal				
		sealing system flex seal				
	2110	utility sealant kit;	г	2.00	4500.00	#1 000 00
	3118	complete as specified Furnish and install	Each	2.00	\$500.00	\$1,000.00
		sanitary sewer internal				
		sealing system flex seal				
		utility sealant kit				
		extension; complete as				
	3119	specified	Each	2.00	\$440.00	\$880.00
	3119	specificu	Lacii	2.00	ψ440.00	ψ000.00

Contract 26-02 - Scott Avenue	e and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	of					
Bid Opening: 11/17/2025 11:0	00 AM CST					
1 0						
					David Tenor	Corporation
						1
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install 8" x 4"				
		sanitary sewer factory				
		wyes or tees; complete as				
	3200	specified	Each	2.00	\$125.00	\$250.00
		Furnish and install 8" x 6"			,	,
		sanitary sewer factory				
		wyes or tees; complete as				
	3210	specified	Each	80.00	\$145.00	\$11,600.00
	0210	Furnish and install 4"	- Lucii	00.00	Ψ110.00	Ψ11,000.00
		sanitary sewer laterals				
		(new); complete as				
	3230	specified	Linear Feet	80.00	\$125.00	\$10,000.00
	3230	Furnish and install 4"/6"	Linear reet	80.00	\$125.00	\$10,000.00
		sanitary sewer lateral				
		(relay); complete as				
	3234	specified	Linear Feet	2,800.00	\$112.00	\$313,600.00
	3234	Furnish and install 4"/6"	Linear reet	2,800.00	\$112.00	\$313,800.00
		sanitary sewer riser				
	2225	(relay); complete as	I to E t	100.00	¢100.00	#10,000,00
	3235	specified Furnish and install	Linear Feet	100.00	\$100.00	\$10,000.00
		sanitary sewer lateral				
	2226	marker balls; complete as		1.00.00	420.00	#4.000.00
	3236	specified	Each	160.00	\$30.00	\$4,800.00
		Furnish and install clay				
		dams; complete as				
	3238	specified	Each	80.00	\$75.00	\$6,000.00
		Furnish and install				
		connection to existing 8"				
		sanitary sewer mains;				
	3300	complete as specified	Each	4.00	\$2,000.00	\$8,000.00
		F '1 1' '1				
		Furnish and install				
		connection to existing 10"				
		sanitary sewer mains;				
	3302	complete as specified	Each	1.00	\$2,000.00	\$2,000.00
		Eish and install				
		Furnish and install				
		connection to existing 12"				
		sanitary sewer mains;	. .			
	3304	complete as specified	Each	2.00	\$2,000.00	\$4,000.00

Contract 26-02 - Scott Avenue	and West 12th	Avenue Reconstruction (#9	926737)			
Owner: Oshkosh WI, City of			•			
Solicitor: Oshkosh WI, City o	f					
, , , , , , , , , , , , , , , , , , , ,						
Bid Opening: 11/17/2025 11:00) AM CST			1		
gg	1			1		
					David Tenor	Corporation
						<u>F</u>
				1		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		1		~ ,		
		Furnish and install				
		connection to existing 24"				
		sanitary sewer mains;				
	3312	complete as specified	Each	1.00	\$2,500.00	\$2,500.00
		Furnish and install			. ,	
		sanitary sewer concrete				
		collars; complete as				
	3330	specified	Each	2.00	\$500.00	\$1,000.00
		Furnish and install 10"				·
		sanitary sewer open cut				
		casing pipes; complete as				
	3404	specified	Linear Feet	50.00	\$170.00	\$8,500.00
		Rock excavation;			·	·
	3600	complete as specified	Cubic Yards	30.00	\$1.00	\$30.00
		Closed circuit televising;				
	3700	complete as specified	Linear Feet	2,555.00	\$1.85	\$4,726.75
		Closed circuit televising -		· ·		·,
		using push camera;				
	3710	complete as specified	Each	5.00	\$300.00	\$1,500.00
		Abandon sanitary sewer				
		manholes; complete as				
	3800	specified	Each	4.00	\$500.00	\$2,000.00
		Abandon 8" sanitary				•
		sewer; complete as				
	3802	specified	Linear Feet	545.00	\$11.00	\$5,995.00
		Abandon 12" sanitary				
		sewer; complete as				
	3806	specified	Linear Feet	36.00	\$15.00	\$540.00
		Abandon 12" x 19"				
		sanitary sewer; complete				
	3809	as specified	Linear Feet	555.00	\$25.00	\$13,875.00
		Remove sanitary sewer				
		manholes; complete as				
	3852	specified	Each	5.00	\$550.00	\$2,750.00
	1	Remove sanitary sewer;				<u> </u>
	3854	complete as specified	Linear Feet	150.00	\$70.00	\$10,500.00
	1	Sanitary sewer utility line				<u> </u>
	1	opening (ULO); complete				
	3890	as specified	Each	5.00	\$400.00	\$2,000.00

Contract 26-02 - Scott Avenu	e and West 12th	Avenue Reconstruction (#9	9926737)			
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City						
, ,						
Bid Opening: 11/17/2025 11:0	00 AM CST					
1 0						
					David Tenor	Corporation
						I
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Excavation special				
		(sanitary); complete as				
	3892	specified	Tons	40.00	\$16.00	\$640.00
		Furnish and install 6"				
		ductile iron water main				
		(relay) with polywrap;				
	4002	complete as specified	Linear Feet	225.00	\$135.00	\$30,375.00
		Furnish and install 8"				
		ductile iron water main				
		(relay) with polywrap;				
	4004	complete as specified	Linear Feet	2,615.00	\$138.00	\$360,870.00
		Furnish and install 1"				
		water service (relay);				
	4036	complete as specified	Linear Feet	2,560.00	\$90.00	\$230,400.00
		Furnish and install 1-1/4"				
		water service (relay);				
	4037	complete as specified	Linear Feet	50.00	\$94.00	\$4,700.00
		Furnish and install 1"				
		water service (new);				
	4042	complete as specified	Linear Feet	100.00	\$95.00	\$9,500.00
		Furnish and install 1"				
	4040	corporation and stop box;		70 00	450000	#2 7 440 00
	4048	complete as specified	Each	72.00	\$520.00	\$37,440.00
		Furnish and install 1-1/4"				
		corporation and stop box;				
	4050	complete as specified	Each	1.00	\$1,000.00	\$1,000.00
	4030	Furnish and install water	Each	1.00	\$1,000.00	\$1,000.00
		service clay dams;				
	4055	complete as specified	Each	73.00	\$75.00	\$5,475.00
	4033	Furnish and install	Lacii	75.00	ψ7 5.00	φ5,475.00
		connections to existing 6"				
		water main; complete as				
	4058	specified	Each	6.00	\$2,500.00	\$15,000.00
		Furnish and install	_301	0.00	\$ 2 ,000.00	\$20,000.00
		connections to existing 8"				
		water main; complete as				
	4060	specified	Each	4.00	\$2,750.00	\$11,000.00
<u> </u>		1 1				4/5100

Owner: Oshkosh WI, City of Solicitor: Oshkosh WI, City of Bid Opening: 11/17/2025 11:00 AM CST Section Title Item Con 4110 4111 4189 4236 4237	e Item Description Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified Furnish and install 6" 45	UofM Each	Quantity 5.00	David Tenor Co	Extension \$4,000.00
Solicitor: Oshkosh WI, City of Bid Opening: 11/17/2025 11:00 AM CST Section Title Item Co. 4110 4111 4189 4236	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00	Unit Price	Extension
Bid Opening: 11/17/2025 11:00 AM CST Section Title Item Co. 4110 4111 4189 4236	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00	Unit Price	Extension
Section Title Item Co. 4110 4111 4189 4236 4264	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00	Unit Price	Extension
Section Title Item Co. 4110 4111 4189 4236	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00	Unit Price	Extension
4110 4111 4189 4236 4237	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00	Unit Price	Extension
4110 4111 4189 4236 4237	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00	Unit Price	Extension
4110 4111 4189 4236 4237	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00		
4110 4111 4189 4236 4237	Furnish and install 8" x 6" water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	5.00		
4111 4189 4236 4237 4264	water main tee; complete as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified			\$800.00	\$4,000.00
4111 4189 4236 4237	as specified Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified			\$800.00	\$4,000.00
4111 4189 4236 4237 4264	Furnish and install 8" x 8" water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified			\$800.00	\$4,000.00
4189 4236 4237 4264	water main tee; complete as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	3.00		
4189 4236 4237 4264	as specified Furnish and install 8" x 8" water main cross; complete as specified	Each	3.00		
4189 4236 4237 4264	Furnish and install 8" x 8" water main cross; complete as specified	Each	3.00		
4236 4237 4264	water main cross; complete as specified			\$910.00	\$2,730.00
4236 4237 4264	complete as specified				
4236 4237 4264					
4237	Furnish and install 6" 45	Each	1.00	\$1,185.00	\$1,185.00
4237	Furnish and install 6" 45				
4237					
4237	degree water main bend;				
4264	complete as specified	Each	24.00	\$375.00	\$9,000.00
4264					
4264	Furnish and install 8" 45				
4264	degree water main bend;				
	complete as specified	Each	6.00	\$440.00	\$2,640.00
	Furnish and install 8" x 6"				
	water main reducer;				
4352	complete as specified	Each	6.00	\$420.00	\$2,520.00
4352	Cut and cap existing 6"				
4352	water main; complete as		2.00	44.450.00	42 200 00
	specified	Each	2.00	\$1,150.00	\$2,300.00
	Cut and cap existing 8"				
4054	water main; complete as	г. 1	2.00	#1 400 00	# 2 000 00
4354	specified Furnish and install 6"	Each	2.00	\$1,400.00	\$2,800.00
4401	water main gate valve; complete as specified	Easle	6.00	\$2,035.00	¢12 210 00
4401	Furnish and install 8"	Each	6.00	\$2,033.00	\$12,210.00
	water main gate valve;				
4402	complete as specified	Each	23.00	\$2,830.00	\$65,090.00
1102	Furnish and install	Lacri	25.00	Ψ2,030.00	φ03,070.00
	hydrant; complete as				
4500	specified	Each	5.00	\$6,050.00	\$30,250.00
1000	Furnish and install 2"	Lucii	0.00	ψο/ουσίου	φοσ,200.00
	water main casing pipe;				
4712	complete as specified	Linear Feet	40.00	\$45.00	\$1,800.00
17.12				4-20.00	4-,
	Furnish and install 4"				
4714	Furnish and install 4" water main casing pipe;	Linear Feet	10.00	\$50.00	\$500.00

Contract 26-02 - Scott Avenu	e and West 12th	Avenue Reconstruction (#9	9926737)			
Owner: Oshkosh WI, City of	f					
Solicitor: Oshkosh WI, City	of					
Bid Opening: 11/17/2025 11:0	00 AM CST					
I 9	1					
					David Tenor Corporation	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
	4800	Rock excavation; complete as specified	Cubic Yards	30.00	\$0.01	\$0.30
		Abandon water main on				
	4900	Scott Avenue; complete as specified	Lump Sum	1.00	\$1,250.00	\$1,250.00
		Abandon water main on West 12th Avenue;				
	4902	complete as specified	Lump Sum	1.00	\$4,000.00	\$4,000.00
	4920	Remove water main; complete as specified	Linear Feet	170.00	\$45.00	\$7,650.00
		Excavation special (water); complete as				
	4990	specified	Tons	40.00	\$16.00	\$640.00
Section 2: Alternate 1						\$40,232.00
		Salvaged crushed concrete credit; complete				
	500-1	as specified	Tons	18,800.00	(\$2.75)	(\$51,700.00)
		Fernau concrete crushing;				
	510-1	complete as specified	Tons	18,800.00	\$4.89	\$91,932.00
Bid Total:						\$4,647,222.93